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ENABEEDEHE

1. 5R&t&t
@LE7
B AKEEE ¥ =23 kN/m’
QEEL
HEAEEE =19 kN/m®
REEIEA »=30°
B EIRA 8§=2/3¢=20° (x&a>sv1y—Fh)
Q#EME g =10 kN/m’
@+E
HIT< ESVEITL B,
BB EREZRI 1=0.6
OMBOHFEIZFNE 0,=300kN/m*  (EB¥)
2. RIXEE
400,
a=10kN/m?
HEEN
|
- |
¥ =19kN/m2 © }
. | g
\
|
|
|
|
2430 1400
2830
o | B =® | ARV () X Y V- X V.Y
@ 0. 400 x 4. 050 1. 620 0. 200 2.025 0.324 3. 281
@ [1/2x2.430x4.050[ 4. 921 1.210 1. 350 5.954 6. 643
£t 6. 541 6.278 9.924
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RAEE W=6.541x23=  150. 443kN
BMIE X=6.278/6.541= 0. 960m
Y=0.924/6.541= 1.517m
3.+
IARYA a° THES HEE =) it TEH
63 172. 907 44.940 217.847 124.728
64 169. 482 44050 213. 532 124. 837
65 166. 174 43.190 209. 364 124. 903
66 162. 865 42.330 205. 195 124. 844
67 159. 633 41. 490 201.123 124. 725
TEARBRKELZDIE @=65" D& = P=124. 903kKNTH 3,
P W sin (a-9¢)
~ cos(a-p-6-j )
_ 187.769xsin (65° -30° )
~ cos (65° —-30° —20° -30.964° )
= 124. 903kN
KESH Ph=P - cos (5+ j)=124.903xcos (20+30.964)° = 78.665kN
SAES A Pv=P - sin (8+ j)=124.903xsin (20+30.964)° = 97.018kN

X=2.830-1.350x0.6=2. 020m

Y=H/3=4.050/3=  1.350m
A RN DEE
DE—4 v bD&F

g g HBEA | KFS 7—LE EEEE—* > b (kN.m)
NN | HK&ND | X m Y (m  [MeN - X] W=H - Y

B E| 150443 0. 960 144. 425
+ FE| 97.018| 78665 2 020 1.350 | 195.976 | 106.198
8 247.461 | 78 665 340.401 | 106.198
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QErfEI=R T BDRTE

ZMX - ZMY
d=
2N
= (340.401-106. 198) /247. 461
= 0.946m
e=B/2 -d

= 2.830/2 - 0.946=0. 469m

| e | =0.469m=B/6=2.830/6=0. 472m

QBB DRE

OK.

F.— >N u
> H
= 247.461x0. 6/78. 665
=1.89 > F,=1.5 0K.
@R NEDFHE
SN 6 e
— 1+
q B ( 5 )
247. 461 6 x 0. 469
g=———— + (1t ———
2. 830 2. 830
= 174.359kN/m* , 0.525kN/m*  <q,=300kN/m*>  OK.
5. AR —%
f =% TEMDEE RETRER i &
EIES | e | =0.469m=<B/6=2.830/6=0.472m OK.
2N u
BE ° SH
= 247.461x0.6/78.665 = 1.89 >1.5 OK.
SN 6 e
q= - (1= )
2R 7 B B
= 174.359kN/m? , 0.525kN/m*  <q,=300kN/m*  OK.
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